











. Mathematics

1. Creative questions

The taxi charges in a city consist of a fixed charge together with the charge for the distance covered. For a distance
of 10 km, the charge paid is rupees 105 and for a journey of 15 km, the charge paid is rupees 155

(i) Find the fixed charges ?
(i) Find the charges per km ?
(iii) How much does a person have to pay for travelling a distance of 25 km ?

(iv) If you observe a park which is rectangular in shape with dimensions 2x? - 5xy + 3z2 and 4xy - x? - z%, then its
perimeter is 2x2 - 2xy + 4z%, find the value of k

(v) If the area of rectangular park is x> + 7x + 12 and its breadth is (x + 3) then what will be the length in this case.
(vi) Write the expression for the length of wire required to fence rectangular park in part (v)

Q2. Face the challenge

(i) Write four algebraic expressions whose value is equal to 16, when a = 4

(i) Multiply the binomials and confirm that each binomial is a factor of that product (by the long division method)
(@)(@a+1)x(a+2)x(@a+3) (b) (2x-4y)x (3x-2y) x (5x +VY)

(iii) Factorise : x>+ x>-9x - 9

(iv) Factorise : P3-2P2-5P + 6

Q3. Real life connect

(i) Raghu, Ramya and Raja planned to contribute money for the welfare of physically challenged children of their
previously studied school. During the planning of contribution, Ramya and Raja gave the following assurances.
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